

一、選擇題（每題3分，共45分）
1. If the size of a sample increases for a given level of significance, the probability of a Type II error will:

(A)
stay the same.

(B)
decrease.

(C)
increase.

(D)
equal to 0.5 regardless of .

2. The test power is denoted by:

(A)

(B)

(C)
1  
(D)
1  
3. While using the t-test for examining the difference between the means of two independent populations, we assume that the respective:

(A)
sample sizes are equal.

(B)
populations are normal.

(C)
means are equal.

(D)
All of these choices are true.

4. The expected value of two sample means’ difference is equivalent to the difference of the corresponding population means when:

(A)
the samples are independent.

(B)
the populations are normally distributed.
(C)
the sample sizes are large and the populations are approximately normal.
(D)
All of these choices are true.

5. The distribution of the test statistic for ANOVA is:

(A)
normal distribution.

(B)
F-distribution.

(C)
Student t-distribution.

(D)
None of these choices.

6. For which of the following is not a required condition for ANOVA?

(A)
The populations are normally distributed.
(B)
The population variances are equal.

(C)
The samples are independent.

(D)
All of these choices are required conditions for ANOVA.
7. If k is the number of treatments and b is the number of blocks in the randomized block design for ANOVA, the number of degrees of freedom for error is:

(A)
k  b
(B)
kb  1

(C)
n  k  b + 1

(D)
n  k  b
8. To test if two variables are related in a contingency table, the null hypothesis, H0, states that

(A)
The two variables are equal.

(B)
The two variables are dependent.

(C)
The two variables are independent.

(D)
None of these choices. 

9. The number of degrees of freedom for a contingency table with 5 rows and 9 columns is

(A)
32

(B)
12

(C)
21

(D)
10

10. We use the chi-squared distribution in:

(A)
describing a population having more than two categories.

(B)
a test of a contingency table.

(C)
a goodness-of-fit test.

(D)
All of these choices are true.

11. When we perform a two-tail test of the population slope1 to determine if there is sufficient evidence to infer the existence of a linear relationship in simple linear regression. The null hypothesis is:

(A)
H0: 1  0

(B)
H0: 1 = b1
(C)
H0: 1 = 0

(D)
None of these choices
12. If the coefficient of determination is 0.80 in a regression problem, it means that:

(A)
80% of the variation in y is explained by the variation in x.
(B)
80% of the y values are positive.

(C)
80% of the y values are predicted correctly by the model.

(D)
None of these choices.

13. The confidence interval estimate’s width for the predicted y is dependent on

(A)
the sample size.
(B)
the value of independent variable x for which the prediction is made.
(C)
the standard error of the estimate.
(D)
All of these choices are true.

14. For the regression methods to be valid, what condition(s) for the error term must be met:
(A)
the error term has zero mean.
(B)
normality of the error distribution.
(C)
constant variance and independence of the errors.
(D)
All of these choices are true.

15. If you fit a linear regression model to data which may cause the abnormal problem, you need to make sure that it is normally distributed. Which of the following test is preferred because it is more sensitive to deviations in the tails of the distribution?
(A)
Anderson-Darling test.
(B)
Komolgorov-Smirnov test.
(C)
Shipiro-Wilk test.
(D)
Durbin-Watson test.

二、計算題（共55分）：請提供計算過程，否則不予計分；z、t與F表格附於後頁。答案之有效位數取到小數後3位數。
1. 根據過去的紀錄顯示，有一個生產線的機器有97%的機率是設定正確的。當機器設定正確時可以生產出95%的良品，但若機器設定不正確時，僅有40%良品的生產率。請問：
a. 從生產線中抽驗一個產品，被選出的產品是良品的機率為多少？（3分）
b. 已知被選出的產品為良品時，則機器是設定正確的機率為多少？（3分）
2. 某網路商店進行的消費者滿意度調查報告顯示：結果為消費者平均滿意度為80分，標準差6分的常態分配。請問：
a. 隨機選取一個消費者意見，其滿意度介於89至92分的百分比為多少？（5分）
b. 若得到滿意度分數前2.5%的消費者可獲贈小禮物一份，則獲得小禮物的最低滿意度分數為何？（5分）
3. 有一間圖書代理商宣稱在接獲客戶的外文書訂單後15天內可以交貨。抽取49位過去的顧客，平均取貨日期為16.2天，標準差為5.6天。
a. 訂定虛無假設與對立假設。（2分）
b. 利用臨界值法（critical value approach），檢定此圖書代理商的宣稱是否成立。
假設α=0.05。（5分）
c. 利用p值法，計算5%顯著水準下的假設檢定。（3分）
4. 由兩間公司獨立隨機抽取員工並記錄其年薪，相關資訊如下：
	
	A公司
	B公司

	 樣本數
	72
	50

	 樣本平均
	48
	43

	 樣本標準差(千元)
	12
	10


a. 我們想探討兩間公司員工的年薪是否有顯著差異。請計算檢定統計量。（5分）
b. 利用p值法，計算95%信心水準下的假設檢定。（3分）
5. 某手機製造商推出三種不同機型，蒐集了一個月內在五間商店販售的數據資料，希望藉此瞭解哪一種機型的市場接受度最好。銷售數字如下：
	型號
	商店1
	商店2
	商店3
	商店4
	商店5

	T1
	210
	230
	190
	180
	190

	T2
	195
	170
	200
	190
	193

	T3
	295
	275
	290
	275
	265


a. 請建立虛無假設和對立假設。（2分）
b. 請完成以下的變異數分析表。（6分）
	變異來源
	平方和
	自由度
	均方
	F

	處理
（treatments）
	
	
	
	

	區集 
(blocks)
	
	
	
	

	誤差
(error)
	
	
	
	

	總和

(total)
	
	
	
	


c. 假設檢定的結論為何？α=0.05。（3分）
6. 有一份年齡與每日看電視時數的調查資料顯示如下：
	看電視的小時數
	年齡

	1
	45

	3
	30

	4
	22

	3
	25

	6
	5


a. 利用最小平方法計算迴歸線的估計值（5分）

b. 年齡與每日看電視時數之間的相關性是否顯著？α=0.05。（5分）

	
z 分 配 臨 界 值 表

	P(z > z) = 

	z
	0.00 
	0.01 
	0.02 
	0.03 
	0.04 
	0.05 
	0.06 
	0.07 
	0.08 
	0.09 

	0.0 
	0.500 
	0.496 
	0.492 
	0.488 
	0.484 
	0.480 
	0.476 
	0.472 
	0.468 
	0.464 

	0.1 
	0.460 
	0.456 
	0.452 
	0.448 
	0.444 
	0.440 
	0.436 
	0.433 
	0.429 
	0.425 

	0.2 
	0.421 
	0.417 
	0.413 
	0.409 
	0.405 
	0.401 
	0.397 
	0.394 
	0.390 
	0.386 

	0.3 
	0.382 
	0.378 
	0.374 
	0.371 
	0.367 
	0.363 
	0.359 
	0.356 
	0.352 
	0.348 

	0.4 
	0.345 
	0.341 
	0.337 
	0.334 
	0.330 
	0.326 
	0.323 
	0.319 
	0.316 
	0.312 

	0.5 
	0.309 
	0.305 
	0.302 
	0.298 
	0.295 
	0.291 
	0.288 
	0.284 
	0.281 
	0.278 

	0.6 
	0.274 
	0.271 
	0.268 
	0.264 
	0.261 
	0.258 
	0.255 
	0.251 
	0.248 
	0.245 

	0.7 
	0.242 
	0.239 
	0.236 
	0.233 
	0.230 
	0.227 
	0.224 
	0.221 
	0.218 
	0.215 

	0.8 
	0.212 
	0.209 
	0.206 
	0.203 
	0.200 
	0.198 
	0.195 
	0.192 
	0.189 
	0.187 

	0.9 
	0.184 
	0.181 
	0.179 
	0.176 
	0.174 
	0.171 
	0.169 
	0.166 
	0.164 
	0.161 

	1.0 
	0.159 
	0.156 
	0.154 
	0.152 
	0.149 
	0.147 
	0.145 
	0.142 
	0.140 
	0.138 

	1.1 
	0.136 
	0.133 
	0.131 
	0.129 
	0.127 
	0.125 
	0.123 
	0.121 
	0.119 
	0.117 

	1.2 
	0.115 
	0.113 
	0.111 
	0.109 
	0.107 
	0.106 
	0.104 
	0.102 
	0.100 
	0.099 

	1.3 
	0.097 
	0.095 
	0.093 
	0.092 
	0.090 
	0.089 
	0.087 
	0.085 
	0.084 
	0.082 

	1.4 
	0.081 
	0.079 
	0.078 
	0.076 
	0.075 
	0.074 
	0.072 
	0.071 
	0.069 
	0.068 

	1.5 
	0.067 
	0.066 
	0.064 
	0.063 
	0.062 
	0.061 
	0.059 
	0.058 
	0.057 
	0.056 

	1.6 
	0.055 
	0.054 
	0.053 
	0.052 
	0.051 
	0.049 
	0.048 
	0.047 
	0.046 
	0.046 

	1.7 
	0.045 
	0.044 
	0.043 
	0.042 
	0.041 
	0.040 
	0.039 
	0.038 
	0.038 
	0.037 

	1.8 
	0.036 
	0.035 
	0.034 
	0.034 
	0.033 
	0.032 
	0.031 
	0.031 
	0.030 
	0.029 

	1.9 
	0.029 
	0.028 
	0.027 
	0.027 
	0.026 
	0.026 
	0.025 
	0.024 
	0.024 
	0.023 

	2.0 
	0.023 
	0.022 
	0.022 
	0.021 
	0.021 
	0.020 
	0.020 
	0.019 
	0.019 
	0.018 

	2.1 
	0.018 
	0.017 
	0.017 
	0.017 
	0.016 
	0.016 
	0.015 
	0.015 
	0.015 
	0.014 

	2.2 
	0.014 
	0.014 
	0.013 
	0.013 
	0.013 
	0.012 
	0.012 
	0.012 
	0.011 
	0.011 

	2.3 
	0.011 
	0.010 
	0.010 
	0.010 
	0.010 
	0.009 
	0.009 
	0.009 
	0.009 
	0.008 

	2.4 
	0.008 
	0.008 
	0.008 
	0.008 
	0.007 
	0.007 
	0.007 
	0.007 
	0.007 
	0.006 

	2.5 
	0.006 
	0.006 
	0.006 
	0.006 
	0.006 
	0.005 
	0.005 
	0.005 
	0.005 
	0.005 

	2.6 
	0.005 
	0.005 
	0.004 
	0.004 
	0.004 
	0.004 
	0.004 
	0.004 
	0.004 
	0.004 

	2.7 
	0.003 
	0.003 
	0.003 
	0.003 
	0.003 
	0.003 
	0.003 
	0.003 
	0.003 
	0.003 

	2.8 
	0.003 
	0.002 
	0.002 
	0.002 
	0.002 
	0.002 
	0.002 
	0.002 
	0.002 
	0.002 

	2.9 
	0.002 
	0.002 
	0.002 
	0.002 
	0.002 
	0.002 
	0.002 
	0.001 
	0.001 
	0.001 

	3.0 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 

	3.1 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 

	3.2 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 
	0.001 

	3.3 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 

	3.4 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 
	0.000 


	t 分 配 臨 界 值 表

	P(t > t() = (

	df

	t0.100
	t0.050
	t0.025
	t0.010
	t0.005

	1

	3.078 

	6.314 

	12.706 

	31.821 

	63.657 


	2

	1.886 

	2.920 

	4.303 

	6.965 

	9.925 


	3

	1.638 

	2.353 

	3.182 

	4.541 

	5.841 


	4

	1.533 

	2.132 

	2.776 

	3.747 

	4.604 


	5

	1.476 

	2.015 

	2.571 

	3.365 

	4.032 


	6

	1.440 

	1.943 

	2.447 

	3.143 

	3.707 


	7

	1.415 

	1.895 

	2.365 

	2.998 

	3.499 


	8

	1.397 

	1.860 

	2.306 

	2.896 

	3.355 


	9

	1.383 

	1.833 

	2.262 

	2.821 

	3.250 


	10

	1.372 

	1.812 

	2.228 

	2.764 

	3.169 


	11

	1.363 

	1.796 

	2.201 

	2.718 

	3.106 


	12

	1.356 

	1.782 

	2.179 

	2.681 

	3.055 


	13

	1.350 

	1.771 

	2.160 

	2.650 

	3.012 


	14

	1.345 

	1.761 

	2.145 

	2.624 

	2.977 


	15

	1.341 

	1.753 

	2.131 

	2.602 

	2.947 


	16

	1.337 

	1.746 

	2.120 

	2.583 

	2.921 


	17

	1.333 

	1.740 

	2.110 

	2.567 

	2.898 


	18

	1.330 

	1.734 

	2.101 

	2.552 

	2.878 


	19

	1.328 

	1.729 

	2.093 

	2.539 

	2.861 


	20

	1.325 

	1.725 

	2.086 

	2.528 

	2.845 


	21

	1.323 

	1.721 

	2.080 

	2.518 

	2.831 


	22

	1.321 

	1.717 

	2.074 

	2.508 

	2.819 


	23

	1.319 

	1.714 

	2.069 

	2.500 

	2.807 


	24

	1.318 

	1.711 

	2.064 

	2.492 

	2.797 


	25

	1.316 

	1.708 

	2.060 

	2.485 

	2.787 


	26

	1.315 

	1.706 

	2.056 

	2.479 

	2.779 


	27

	1.314 

	1.703 

	2.052 

	2.473 

	2.771 


	28

	1.313 

	1.701 

	2.048 

	2.467 

	2.763 


	29

	1.311 

	1.699 

	2.045 

	2.462 

	2.756 


	無限大
	1.282 

	1.645 

	1.960 

	2.326 

	2.576 



	


	F 分 配 臨 界 值 表   P(F > F() = (

	　
	(1 (d.f.) 
	( = 0.05

	(2 (d.f.)
	1
	2
	3
	4
	5
	6
	7
	8
	9

	1
	161.45 
	199.50 
	215.71 
	224.58 
	230.16 
	233.99 
	236.77 
	238.88 
	240.54 

	2
	18.51 
	19.00 
	19.16 
	19.25 
	19.30 
	19.33 
	19.35 
	19.37 
	19.38 

	3
	10.13 
	9.55 
	9.28 
	9.12 
	9.01 
	8.94 
	8.89 
	8.85 
	8.81 

	4
	7.71 
	6.94 
	6.59 
	6.39 
	6.26 
	6.16 
	6.09 
	6.04 
	6.00 

	5
	6.61 
	5.79 
	5.41 
	5.19 
	5.05 
	4.95 
	4.88 
	4.82 
	4.77 

	6
	5.99 
	5.14 
	4.76 
	4.53 
	4.39 
	4.28 
	4.21 
	4.15 
	4.10 

	7
	5.59 
	4.74 
	4.35 
	4.12 
	3.97 
	3.87 
	3.79 
	3.73 
	3.68 

	8
	5.32 
	4.46 
	4.07 
	3.84 
	3.69 
	3.58 
	3.50 
	3.44 
	3.39 

	9
	5.12 
	4.26 
	3.86 
	3.63 
	3.48 
	3.37 
	3.29 
	3.23 
	3.18 

	10
	4.96 
	4.10 
	3.71 
	3.48 
	3.33 
	3.22 
	3.14 
	3.07 
	3.02 

	11
	4.84 
	3.98 
	3.59 
	3.36 
	3.20 
	3.09 
	3.01 
	2.95 
	2.90 

	12
	4.75 
	3.89 
	3.49 
	3.26 
	3.11 
	3.00 
	2.91 
	2.85 
	2.80 

	13
	4.67 
	3.81 
	3.41 
	3.18 
	3.03 
	2.92 
	2.83 
	2.77 
	2.71 

	14
	4.60 
	3.74 
	3.34 
	3.11 
	2.96 
	2.85 
	2.76 
	2.70 
	2.65 

	15
	4.54 
	3.68 
	3.29 
	3.06 
	2.90 
	2.79 
	2.71 
	2.64 
	2.59 

	16
	4.49 
	3.63 
	3.24 
	3.01 
	2.85 
	2.74 
	2.66 
	2.59 
	2.54 

	17
	4.45 
	3.59 
	3.20 
	2.96 
	2.81 
	2.70 
	2.61 
	2.55 
	2.49 

	18
	4.41 
	3.55 
	3.16 
	2.93 
	2.77 
	2.66 
	2.58 
	2.51 
	2.46 

	19
	4.38 
	3.52 
	3.13 
	2.90 
	2.74 
	2.63 
	2.54 
	2.48 
	2.42 

	20
	4.35 
	3.49 
	3.10 
	2.87 
	2.71 
	2.60 
	2.51 
	2.45 
	2.39 

	21
	4.32 
	3.47 
	3.07 
	2.84 
	2.68 
	2.57 
	2.49 
	2.42 
	2.37 

	22
	4.30 
	3.44 
	3.05 
	2.82 
	2.66 
	2.55 
	2.46 
	2.40 
	2.34 

	23
	4.28 
	3.42 
	3.03 
	2.80 
	2.64 
	2.53 
	2.44 
	2.37 
	2.32 

	24
	4.26 
	3.40 
	3.01 
	2.78 
	2.62 
	2.51 
	2.42 
	2.36 
	2.30 

	25
	4.24 
	3.39 
	2.99 
	2.76 
	2.60 
	2.49 
	2.40 
	2.34 
	2.28 

	26
	4.23 
	3.37 
	2.98 
	2.74 
	2.59 
	2.47 
	2.39 
	2.32 
	2.27 

	27
	4.21 
	3.35 
	2.96 
	2.73 
	2.57 
	2.46 
	2.37 
	2.31 
	2.25 

	28
	4.20 
	3.34 
	2.95 
	2.71 
	2.56 
	2.45 
	2.36 
	2.29 
	2.24 

	29
	4.18 
	3.33 
	2.93 
	2.70 
	2.55 
	2.43 
	2.35 
	2.28 
	2.22 

	30
	4.17 
	3.32 
	2.92 
	2.69 
	2.53 
	2.42 
	2.33 
	2.27 
	2.21 

	40
	4.08 
	3.23 
	2.84 
	2.61 
	2.45 
	2.34 
	2.25 
	2.18 
	2.12 

	60
	4.00 
	3.15 
	2.76 
	2.53 
	2.37 
	2.25 
	2.17 
	2.10 
	2.04 

	120
	3.92 
	3.07 
	2.68 
	2.45 
	2.29 
	2.18 
	2.09 
	2.02 
	1.96 
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